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% D=pot pgh

AF  p—HEHEEF, kg/m’;
g——ENMERE, m/s;

Zis Z,—HEEEXTFEHMNEEES, m,

piv py—BE1-1". 2-2HER, Pa;
po—WE L HHIER, Pa;
h——BE W B, m;
p—h R EMR, Pa,

2KRFEBERAANERE S EL &R
B X %

21~ by = (py — p)gR
AP po—EHBIHREEE, kg/m?;

e EBTRENEE, ke/m’;
Py p,— B EBS I ERE, Pa;

R_—Hiﬁi—fﬁ(]&ﬁa m,
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p 2 p 2
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2 2
7 21+§+§§+H Zz+f§+2g+Hf (m)
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H Zipg+ py+ p; tWo=Zrpgtp,t = 5+ pZhy (Pa)
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16. BLEKEL
H = (Z:—Zl)‘l'
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pyt onog(R + H)
= pat Pnzog(h + H) + py,gR

p,= pat progh
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(2) #£ A. B. CEZBi L. THEERMNHEEA N
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AB:
Bpy = Py~ P2 = phya (a)
BE:
Apy = p3 — Py = phyp+ pgip (b)
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